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ECE 580

Prof. G. Temes Open Book

1. The two-port shown operates between 50 ohm terminations, and S;; = 0 at all frequencies.
C=1 pF.

(a) Find R and L.

(b) Find S;; as a function of frequency.

2. The -3-dB frequency of a 12™-order Butterworth filter is f;= 10 MHz.
(a) Where are the dominant poles?

(b) What is the dominant pole Q, ?

3. (a) Find the transfer function of the G,-C filter shown.

(b) Let the swing at the output of Gz be 50% of the allowed maximum. How can it be scaled

back to optimum?
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2.(a)
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Put (2) in (1)
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s*C,C, - sgm,C, + gmygm,

Note: The circuit is unstable

(b)

If V, is 50% of the allowed maximum, multiply gm; by 2 and divide gmy4 by 2 in order to
make sure the feedback current the same.



